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, Choose the correct answer (Multiple Cholce Questions)

I Theaxis of the parabolay? - 2y + 8x~23= 0 is

3. The line 4x+2y = cisa tangent to the porabola y* = 16x then ¢ is

7. The length of the latus rectum of the parabola whose vertex is (2,-3) and the directrix

9. The vertex of the parabola x* = 8y - 1 is
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L. Book Questions
* (Sep '08, Mar 11, Sep 12 & Jun "13) 3

o g A R

. {Jun '09, Mar '10, Mar 11, Seg: '13 & Mar '15) ,4

%

(March '12) '

b1 ok o

10. The line 2¢ + 3y +9 9 =( touches the parabola 3 =8z at the point  (Marah 06 & March ’IJ)

2(0,-3) by (2 4) 0 [ 2] d)[?' )

0 o,_‘.)

rpn ety BT

wy=-1" byx=-3 S)z=3 "gy=1 i
2. 16¢'=3y* - 32x~ 12y - 44 = 0 represents (Jun '08 & Sep '10) #] -
a) an ellipse b) acircle c) a parabola d) a hyperbola i

-l CEN Y -4
4. The poml of intersection of the lang:ms ot fy = tand 4y = 3¢ to the parabola y' =Bxis 1},
: (Mar *08, Sep '09 & June '14) '55

a) (67, 81) b) (8, 6) o, 4) dr) - 2

5, The length of the lu'.us rectum of the parnbolay? = dx + 4y +8=0 s f‘

3 4 4 (Mar '07, Mor *09, Mar '14 & Juns'15) : .
a) 8 b) 6 4 d)2 !

6. The directrix of the parabola y? = x + 4 s . (un'10) 7|
5 » e bk s

n)x-|—:- b)\'-—-l4— ; c)x=-—4— d)x= p /

x=4is (Sep '07 & Mar '16)
n)2 b)4 | c) 6 d)8 il

8. The focus of the parabolax’ = 16y is (Sep '15) ]
n) (4,0) b) (0, 4) * ¢)(-4,0) d)(0,-4)

il
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! 18.

v A =|-.}’¥."¥:W~QB§\EHW parooin y = 14! iersecton e ine

[ 4. 306 Ul

8)x=3=0 pr+3=0  y+3=0 .d)y‘3=°' (lu:::a7&.s'¢p 11
12.T hie anglc between the two {angents drawn from the point (-4, 4) to M= l§x°|s (June '08)
1) 45° b)30° c) 60° d) %0
. Thu eccentricity of the. comc ol + 57~ 5dx - Aly +4I 16=0is .(M;r 07&Sep 1) |
Dk 1 b)3 z Dy d) i
3 14. The lcnglh of the semi- mnjor and the length of the seml-mmor axis of the ellipse |
—4—=]are (Jun '10 & Mar °15)
144 169
2)26, 12 b) 13,24 ¢)12,26 d)13,12

15. The distance between the foci of the ellipse o5t + 5/ =180 is
(Jun '09, Jun '12, Mar 13, Jun °13, Sep ’13 & Mar *14)
a)4 b) 6 c)8 d)2
16. If the length of major dind semi-minor axes of an ellipse are 8, 2 and their corresponding
equations are y— 6 =0 and x+4 =0 then the equations of the ellipse is

g v+l (-6

jeasd) +—°’l:) -1 p e, 0o

@l 06, )———"‘“)1 A
e 4 16

17. The straight line 2 v—y+ c=0isa tnngent to the elhpse 42+ 87 =32ifcis

|
|
i
|
|

{

(Sep '08, Sep *10, Mar '12 & Sep °12) !
0)+2V3 b)+6 ¢)36 d)+4 |
The sum of the distance of any point on the ellipse 4 + 9); =36 from (‘E, 0) and (—\E: 0)is ‘

: {Mar "06 & Sep '09) |
a)4 b) 8 c)6 d)18

il 19, The radius of the director circle of the conic 95 + 16y =144 is

(Sep 06, Jun 08, Mar 11, Sep 14 & Mar *16)
0 V7 b)4 03 “d)s

. The locus of foot of perbendiculaf from the focus to & tangent of the curve
1672 +25/ =400 is

)X +y=4 b)x’ +y* =25 )P +) =16 -
21, The eccentricity of the hyperbola 12)% ~ 4} - 24x + 48y - 127 =0 is

2

=

(March '09)

a)4 b)3 ¢)2 d)6

22, The cccentricity of the hyperbola whose latus rectum is equal to half of its conjugale axis is |

& ; (Jun_"06, Jun '07 & Mar °15) |

3 \5 {
a — — — e
) b3 93 )
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— 27. Theangle between the asymptotes to the hyperbola i— i= lis
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23. The difference between the focal distances of any point on th hyperbola e —’i =1is *X
24 and the eccentricity is 2. Then the equation of the hyperbolu is
By i yob
432 144 12
24. The dlrectnxofthe hyperbolax® —4(y~3)* = 16is

{Mar '07 & Jun '1 I)
) — 2= ) ——

= d) = - ——=]

123 26 12

=38 il \5
Dy=i b)x t«ls' =)y=t-%

25 TllellneS\: -2y +4k=()lsnt--mganttodxz y’=36!hen)ns
u — —-
) 9 b)

5
-4 —
d)x 8
(Sep '06 & Jun *13]
oL
: : 62 7
26. The equation of the chord of contact of tangents from (2, 1) to the hyperbola

—_—— =
is

c)-4—

.

2)9x—-8y—72=0  b)9x+8y+72=0 c)Bx- y—72=o d) 8r+9y+72=0 3

(March '08, Mar ’12 & Sep '13)

(Mar 06, Jun *09, Sep "14 & Mar *16) %)
s '

(Jun "13) i}~
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- 34, The co-ordinate of the vertices of the rectangular hyperbola xy = 16 are (Mar '07.8 Sep '11)

D (4,4,C4,-4) b(29)62-9 (4,0,(-4,00  d)(8,0),(-3,0)
1 b 3 5. One of the foci of the réctangular hyperbola xy =18 is (March "09)
8)(6.6) b)(3,3) ) (4,4) 4 (5.5) 4

36. The Iengih of the latus rectum of the rectangularhyperbolaxy=32is - -~ - — - -

_ fMar *08, Mar '10, Jun ’I1, Sep *14 & Sep '15)
8) 82 b)32 )8 Q16
37.. The area of the triangle formed by the tangent at any point on the rectangular hyperbola
xy =72 and its asymplotes is (Mur 11 & Jun *15)
a) 36 b) I8 d) 144

38 The normal to the reciangular hyperbola xy = 9m 6,1 meets the curve again at
(Jun '12 & June *14)
n)[._,u] iy (‘24,:.3_ -
] 8 .

.9 72

) [73-% b d)[u,_ﬂm» i

HE
0)n- Ztl.m-l [1] byR—2 tar [ 4 ] i’ S [ 3 ] e [ 4 ] z : 11. COME Book Questions {PTA Questions|
: Pa - 3J° 9 19, The axis of the parabola y = 4x is
28, The nsymGptotcs of the hyperbol:; 3.6);'_2& +900=0 ar; . . | oo S e
i AT T o ; 40. The vertex of thiz parabola y* = 4x is
29. The product of'! the pergendxculurs drawn from the point (8, 0) on the hyperbdla to its '\ ) (1,0) ), 1) 0 (0,0) ) (0,-1)
asymptotes is _x_ = ;_6 =1is o *18 & June 1) < 41. The focus of the pa}aboh ¥ =4ris R
"’52755 ,,)5?756_ C)% : -d)% 0,1 - B, 1) © (0,0 90,0
30. The locus of the point of intersection of perpendicular tangents to the hyperbola 42. The directrix of the parabola 7 = dx is
2 =i (Sep 108 & Jun '12) “{' > e . D! ‘°)Y=‘ dx=1
Sepizs b= PN B PR Sl S
31. The cccentnclty of the hyperbola with asymptotesx +2y—5=0, 2x~ y+( ;ep '(‘)] ;s& - '07_) ' o4 The ot L
)3 .2 B d)2 a)2 b)3 ol a4
32. Length of the semi-transverse axis of the rectangular hyperbolaxy=8 is 45. The axis of the parabola x* = =4y is
(Sep *10, Sep *12 & Mar 'm a)y=1 b)x=0 c)p=0 d)x=1
— a2 ——b c) 16, d)8 3l 46. The ventex of the parabola x® = -4y is , S
33. The asymptotes of the rectangular hyperbola xy = care (Mareh °13) a) (0,1)- b) (0;-1) - c)(1, 0) d (0,0)
a)x=c,y=c b)x=0,p=c '. cjx=c,y=0 d)x=0,y=0 47, Thel'ocusoﬁhepambolnfr-—tlyis
! a) (0, 0) b) (0, ~1) ¢)(0,1) d) (1,0)
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! 48. The directrix onh:m\;zl\;V}N-.P?C_iaSalaLNet ﬂr www.CBSEtips.in, .
! a)x=1 b)x=0 o E 64. The equation of the major and minor axes of -J-;-+ % = [ respectively are (June '06)
! 49. The cquation of ) 1 ! 20 i : a)f=3,y=2 byx=-3,y=-2 cjx=0,y=0 d)y=0.x=0
| the LR ofx" ==y s i J
i i b)y= -| Ox=l i , * 65. The equation of the major and minot axes of 42 +3F = 12are (Scp 08
: = ‘ = il 5 .
: 50. The length L.R. of x* = — 4y js L ;j ‘- a)x=Vi,y=2  b)x=0,y=0 dx=-B,y=2  dy=0.x=0
i y = ‘. :2 - 3
(i Vi . b2 : )3 dy4 51:5 66. The lengths of minor and major axes of T*"%‘“lm
) 51. The axis of the parabola * = — 8y is ﬁzﬁ 26,4 3,2 c)4.6 - )23
§ X a o Y _ . ,'5' i & - :
! T e ©)y=2 dy=0 g 67. The lengths of major and minor axes of 42° + 3y’ = [2are ¢luse 07
e L] ' Ot 942§ 02 92B.4 a2
: 2)(0,0) b)(2,0) i ! ;
2 L2 i) 4)@.-2) é } 68. The equation of the directrices of T 1are (Sep '3
5 53. The focus of the parabola * = - 8x is i 4 16 : : 16 d)
! b =4— =t = i St =2
: : a) (0, -2) b) (0,2) €)(=2,0) 0,0 E ) y== T byr=i f Qx=t y 5
5 ¢ ,0) i 1
°  54. The equation of the direotrix of the parabola'y? =— 8x is - o o ;. - 69. The equation’of the directrices of 251" + % = 225 are. -
>: a)y+2=0 b)x—-2=0 c)y-2=0  d)x+2=0 ", n)x=:t;4'a:‘ " b)x=t-2;5- c)yai—;s— d)y=:tT
g 55. The equation of the latus rectum of y* = — 8 i ; i K i g
3 = y * ls_ : il 1 70. The equation of the latus rectum of I+ —=lare (lar 19
1 Jidmded b)y+2=0 x-2=0 d)x+2=0 gl 7 e el dy=t7
uf =+7 byx=t )x= =
56. The length of the Izm;s rectum of yz == Bxis ; . 5 =
£ 28 - E35)6 S “d)-8 30 71 Theequion ofthe LRs of 255+ 9% = 225 are
# . | A a)y=15 byx=25 Qy=i4 o
i 57. The axis of the parabola x” = 20y is ; i i 2. gt
i : ay=5 b)x=5 Ox=0 d)y=0 . 72 The length of the L R.of -I‘—G+ el
’: : 58. The vertex of the parabola x* =20y is J - ) % b)% ¢) -1—96— ! d) —‘56-
‘ 2) (0, 5) b) (0, 0) ¢)(5,0) d) (0, -5) if : e _ ’
: 2 j ; ] 1 73. The length of the L.R. of 25x* + 9y* =225 is
59. The focus of the parabola x” = 20y is : < -9 3 18 25 . 5
2, 0) . BEO 90,5 @) 5,0) i i I s T
‘ 60. The equation of the dircctrix of the parabola x? = 20y is 74. The eccentricity of the ellipse ;—5 & A lis
/{ a)y-5=0 b)x+5=0 glxr o=l greos Nt b= 9= ad
cl 61. The equation of the latus rectum of the parabola x=20pis : ] 2 1 5
{] S eieep b)y—-5=0 )y +5=0 d)x+5=0 75, Th:_eccemricity of the elfipse =+ <== s~
if ( : 3 b) 2 3 2
,5 62. The length of the latus rectum of the parabola x' = 20y is £ 8) 3 b) -“Li S 93
i dy4 ¥ : '
2) 20 DY ] e | 76, The cccentricity of the ellipse 16x' +25) = 400 is
{ 63. Ifthe centre of the ellipse s (2,3) one of the foci is (3, 3) then the other focus is §ek Nl i P
¢ 1(13) b) (-1, 3) ¢)(1,-3) ) =1,-3) A} 5 5 4 5
B o (mm; T 2 : Goe Mark Questions for-+2 Mathemaics 51 Linl {4566) 221778 One Mark Questions for +2 Mathemalk
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77. Centre of the ellipse 2= + s lis I - :
25 9 gl 91 The equations of the directrices of the hyperbola 16* — 92* = 144 are
a) (0, 0) b) (5, 0) 0.5 A | 9 9 5 40
; y’ y d)(0,5) - . fx=t -9- b)y-:l:? :)x-t-s- d)y-:t—g- )
78. The centre of the ellipse <~ 4+ == 1 js 3 S iar i
03] . 4 9 4] 92. The equations of the L.R"s of the hyperbola - = == i are
= sonis s ey :1(;’3}. RRICA) 43,0 ° f my=i13 _‘b)y-Hﬁ  ax=£13 Qr=V3
- The foci of the clh.pse 5 + ?= lare q 93, The equations of the L.R"s of the hyperbola 16" — 9 = 144 are :
| a)(0,x5) B)(0,24) O 5,0) T 3 a)y=45 b)x=t5 y=25 - dr=+¥5
: : 2 I e :
1 4 J A
* 80. The foci of the ellipse -%-p ég [ are },llmi: i o 94. The length of the L.R of 39 = s! is : :
. q i
! 4 by o= @
a)(x5,0) b) (0, £5) ¢) (0,£5) d) (15, 0) " s 3 )3 i ) 2 4
81. The foci of the ellipse 16x* +25)% =400 are 3 el Theleccenmr:lry ofthe hygerbol'a 9 -;5-. e AT
3,0 b)(0,23) ©)(0,£5) 45,0 =)33—4 s o i s 22
= T e g LT S s - it - = cwe s 7
82. The vertices of the cllips.:;—s-i-— =lare < Z" 96. The ceritre of the hyperbola 25+ - 16% =400 s
9 1 18 5 0,0
a) (0, +5) b) (0,+3) 0 (£5,0) d)(£3,0) ] 204 % “’J’f’ 2 9% e
83. The vertices oflhcellipsei:h+-)g—= 1 are : ; 975 The foci ofie b'a-;—zgi % -
(0, £3) bE2,0 93,0 D@42 i o eHb L EnGRal e agen
- : ; S 2 =
84. The vertices of the ellipse 16x* +25)% = 400 are : B 98. The'vertices of the hyperbola 25"~ 16/ = 400 are
(0, £4) b)(£5,0) o) (£4,0) 90,5 - i O PRy e i
85. Ifthe centre of the ellipse is (4, —2) and one of the foci is (4, 2), then the other focus is E _ 9. The equation of the tangent at 3, - 6) to the parabolay’ = 12xis
: 266 b 6. 4) s 9(6.4) } a)x-y-3=0 b)x+y-3=0 c)x—y+3xz-o dx+y+3=0
5 100. The equation of the tangent at (—3, 1) to the parabola x* =9y is
i fthe hyperbola <—— == 1 ar
R e e e e g g 9Ir-2-3=0 b)A-3p+3=0 )Z+Iy+3=0 Qir+2y+3=0
a)x=2y=3 b)y=0;x=0 )x=3y=2 d)x=0,y=0 d
d : 101. The equation of chord of contact of tangents from the point {3, 1) 1o the prrabola
87. The equations of transversc and conjugate axes of the hyperbola 16y* —9x = 144 are Y=8ih S )
a)y=0x=0 . bjr=3y=4 c)x=0;y=0 :’F*""‘ 0)4r-y—-12=0 b)dx+yp+12=0 ) dp-x-12=0  d)dp-x+i2=0
88. The equations of transverse and conjugate axes of the hyperbola ”4-5 '35:;_ 3600 "‘m 102. The equation of chord of contact aflzngenlsﬁ‘mﬂ.l)bﬂzciﬁmh’i-s_f'.mk
a)yp=Ox=0’ b)x=1Zy=5 r=0y=0 d)x= .y: lorch 90 . 0)x=-3y+5=0 b)Sx-y+5=0 c}x+5y-5=0 d)Six—y-5=0
29. The equations of transverse and conjugate axes of ihe hyperbola 8 -27' = G are 103. The equaiion of chord of contact of tangents from (S, 3) to the hypertola 4 - 69 =24 5
“)r=2Zy=vZ  br=VZy=22  x=Gy=0  dy=0x=0 R
e monh‘dinmﬁmonhehywbohi:"——;"‘"" - MOrHIOy+I2=0 b) 10+ %y-12=0 %r-10y+i2=0 Hilr-G-12=3
J 3 104. The combined equation of the asymptotes to-the hyperbola 36¢* - 25 = 900 is ;
g b .1_'_- c)yﬂi——' d)I"t—L 2 = b by 2 !
aly-t-lﬁ a=des 9 7 82574367 =0 b)3I&I-25 =0 )3IRF+257=0 )25’ -362=0 i
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The ungle between the asymptotes of the I\ypcrbnln 24x* - 8y’ = 27'is k
21 § .‘_2.'1 ¢
ﬂ) = )-— or 5~ ) A d) S
ax is (Sep '08) i}

The point of contact of lhe tangent y = mx + ¢ nnd the parabola * = 4

w(2.2)
—+——=||s

The point of contact of the tangent y = mx + ¢ and the ellipse 2

Sy oy |

(Sep '10 & Mar '11)
.
3 n' & m b [__"'_ ;bi]
a)[cpc] b)[c_ T- c) _C_'_c_ d) St
3 . : 5
“ 108. The point of contact of the tangent y = nx + ¢ and the hyperbola ':T -=—==lis
afert = Bl 0 [___"’1"' ;&] d)[——"""2 . -‘-"1]
T rs P Ol
§09. The true §tatements of the following are 4 ; :
(i) Two tangents and 3 normals can be drawn to a parabola from a point.
(ii) Two tangents and 4 normals can be drawn to an'ellipse from a point.
(iiii) Two tangents and 4 normals can be drawn to a hyperbola from a point.
(iv) Two tangents and ¢ normals can be drawn to a R.H. from a point.
a) (i), (ii), (iii) and (n) b) (i), (ii) only <) (iii), (iv) only d) (i), (i) and (iii)
0. If'y ¢ are the extremmes of any focal chord of a parabola y'=dax then hiis
a)—1 b)0 ET! 95 L arcn B
2
111. The normal at ‘ry’ on the pambolay’ = 4ax meets the pnraboln at ‘1," then [t. +==lis
Oy b b I +h d)__ (Jun'10 & Mar’11)
. X .
112. The condition that the line fx +my +n= 0 may be a normal to the ellipse = +—l:’-= 1is
7 2 2 2 2,2
. d b _@+b) Sep 12,
n)01’+2alm’+m’n-=0 L) R e S S 12
2 Sasb) e U
g T4+ = D
R T L P
113. The condition that the line Lx + my +n =0 may be a normal to the hyperbola
2 2 & 5
X _ X =oyis s
& T s b
a) al’ +2alm* + m'n=0 : ) n
B (a’—b’)’ . ﬂz_.lll_, (@ + by
s e L :
. (o;sss)zzlﬁs T Onc Mark Questions for +2 Mathematics $6 -
nt

X
i )

114.

115.

120.

e 21,
i 122,
12

124,

The condit o, P s
n)aP + 2alm® + m’n=0 £ = T'z (arch *13)
i g _@=5 oL 0 i

g il ei! F it n

The chord of contact of tangents from any point on the directrix of the Parabola y = dg

passes through its il

2) vertex b) focus c) directrix d) latus rectum
. The chord of contact of tangents from ‘any point on the directrix of the ellipse

31— + == | passes through its

‘S e $ b focus * ¢) directrix d) latus rectum |
. The chord of contact of tangents from any point on the directrix of the hyperbola

—’é— - -;’-z—= 1 passes through its (March '03)

& :

a) vertex b) focus c) directrix d) lmu§ rectum

. The poiin of intersection of tapgents at “t, and ‘1

. Ifthe normal to the R.H. xy=c’ at ‘ty’

1
i —)— =lis

a)”}?_ .l p)P+i=d P +y=a+b . dx=0
The locus of the foot of perpendicular from the focus on any tangent to the hyperbola
i )_’2 =1is

aib

Q)+ =a'-p b) P+ =d xt+y=a +b d)x=0
T;hq locus of the foot of perpendicular from the focus on any tangent to the parabola

¥y =daxis (June '12, June "14 & Sep'H)
)2+ ra -0  bP+y=d ox+y=a'+h a)x=0
The locus of the point of intersection of perpendicular tangents to the ellipse

-;1-4- ==l (Sep’li
3 +)y?=al- b b2+ =a’ O +y=a+p - d)x=0
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ion that the line Ls + my+ n'=0 may be a normal o the parabola 7 = 4 js

4y !otheparabola)}=4axis
(Jun *09, Jun *13 & Mar '14)

b) (ant a(h + 1) ©)(af,2ah) - d) (anty, alti - 1))

a) (a(f + 1), anfa)
meets the curve again at ‘5 ’then 1‘ b= (June’03)

a)l b)0 c)-I dy-2

The locus/of the point of intersection of perpendicul gens to the parabola y? = daxis
(Sep 13 & Mar '16)

a) latus rectum _ b) directrix  c) tangent at the vertex d) axis of the parabola |

The locusg of the foot of perpcndu:ular from the focus on any langenl to the ellipse

o| - Cwerseezis
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125, The loss of the T
; point of Intersection of perpendicutar to ;
‘) tangents to the hyparbola 7 7 5
L %_ % g 1% 'ﬁwmuﬂw--i- 1. The ordinate 2t P nikets the ssymptotes n
; . ' i : % Qand f then OP. P s : Deleton  {une 88
mrsyaf. [l' DTS ALY Oy sd s d)x=0 > 0% b6 4 a2
126, "Thy condition thn the tne Ix # m " :
)‘*""Onnlybnwn b 1 (ke parabol # A 1Y, Anzwers
#) ﬂ’f' ] /l]m’ L "’ m ”m " i ﬂ’ o diss "y_'.l’m" 4 -
)l =i =rf dacmen %
127, The e / '
v 4mdiiltm that the line [x + my + = 0 may bﬁlmng,cmwlhc ellipee  (June'13) ; one A | oxe [ Ams. | oxe fAne | oxelnne loxe Jame | one jans] . -
. 7 -
&P M o s (une 13 1 |dlu[o [a[bo m(b 9] [nlv]
0y d'l 4 Wyt w gt by an' = In APl =P oot &adimert 2 ({dl2slclastelnn]c ]t | purle
128, ‘Hw wonditlon that the Yo Ix 4+ my + 1= 0 may b n tangent 1o the hyperbola 7 3]d)%|s|mlb|m|a|os)c |m]b
T - s 4 fa|27]le|m|d]|73|b}o%|d}m|ec
a
, : ; 5 |cj28|b |51|dj74)d |93 |nejb
na W b e byand = In eyl =t =i d) A Im = rf / 6 |c|29|0 5213 17512 19%15mlbl
129, 'l}llm c;v’n;;lmmn that (e Hiie Ix + my + 1 0 rany b a dngent (o the rccmngulur(:u;'pc;’boll:) 714 30|d|s3lcllpl9ld}imz]|bd
" wreh ',
: / 8| b |3]|b | 54|bj77|a|[mic |1n]|d
W a4 Wl et by an' =1 ) W= d) 4ctm = !
) y by am’ = In ¢) a’{' Wl = nt ) 4c’lm slelnivinlilnl: lmlaslnite
130 Tha foot of o parpandicular from a focus of the hyperbola on un asymptote lies on the ’ 10] 4| 33[d [s6]a|m|d ] wz|ec 128 | 2
) tenhe b) corrasponding directelx ©) veriex d LR ; 1 |p | 34|a|57|c|so|b|ms|d]|m]|b
I Addttonal Questlons : ; 12)d[3s)afssjblsja mid|uw]a
130, The normul n the poln *7)* on the paraboln meets the paruboln y* = dax again at 't 13|p | 36]4d 9|l c|smlc | 1es]e¢ 128 ) ¢
then == | ; . 2 14| d|37{d |6o|d|83|o |mfa]|mns|d
! h) )y d) (4= 7
I ; i , 150 ¢ |38} |61|b |8 b jwrjb|jb
) 4 .
132 The ngent ot any polnt I on the allipte ;" { L 1 whose centro C moets the major . 16 1°b 30 62) ¢ o $9 fes ) d
sdn ot 1 and I'N dn the perpandicular to the major wxls then CN, CT = Deletlon (Sep ) e 2 Lk @l rleib .t i il &
) Vo b) 3 IR d)6 ‘ Blelajdje|cjomjeiimis il 5
‘ | s / 19 | d | 42|b | 65| b |88]|a |m|a|zq}|b
- L : W e n
13, I the unnu'ul m(!:“n'cml of the Intus rectum of the ellipre x* 1 3) 12 Intersect the major : Tl B 7Y P e 3 74 =
( Ch In i
MIV;:! I, than o 4‘[) i 2 ‘21 [ ¢ | 44| d | 67| a l90)d |majd
OB b) e 9= 3 p 2] d|4s]b |es|b]orlo ! 14]a
< i of the ellipse ==+ === | 230 a | 46 d | 60| d]92|d|ns|b
4 twe dl iy of the minor axls, Iy and Fy ara the foci oft 4 ;
134, 10D ond W el m:m " | Deletton— (Juts 06 & Jun *07) TR
(hen th aren ond By 18 Fp D' 5 5 i
w 16 DY o) 16V2 43243 1l .
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()""l)la._ax_l_24 %

=1 =gx-3) e

Y"—4ax X’X—B

nxis-Xn.tis;:yao' Yﬁ)l—l
y=1=0 i U L

.
Q .

2. 16x' + 0xy~3)? - 32x— 12y - 44 =0

Note:
axd + 2hxy + Bl —=
a=16 hgu:);+2‘g.vtb:‘2€+c 5 (i) IfA* = ab It is a parabola
E h=0- ] . (i) If #* > ab It is an ellipse
K=0 ab=—48 (iii) 1€ #* > ab It is a hyperbola
W¥>ab )i’ >ab&a+b=0NisaRH
" "0 >—48 (is a hyperbola)
3. 4r+2y=c =16 i ),;=g, T3]
c =
}'=-‘Zt+‘,;' yfgm = ~)a=;ax - -
=mx+c 4a=16
Wh:'e' m=-2 [a=4 P(xi, 1) = (67, 81)
= i
e=7 -
condition for the tangency
a .
TR y' =dax
it g
g
o The point of intersection of the tangents
“* [Pl y) = lats by a(ty + )]
. =0
5. Y +day—dx+8: :
2+4y+2’-2’-4x_+8=0
L X=x-1
01+2)2=4X"4 YB,’-“Z
0;+2)’=4(x-l)

y?=4aX

el x=0;Y=Q

Latus rectum

Lz (D4
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¢ p=(x+4) WWWWEBSELips.in A
" Yl'=daX ° X=x+4 '
' 4a=1 i

=4 {

=a= 4. :

directrix X =~a é'
x+4=—%—_ X=—

. From this diagram a = 2 units

; xz—‘-ﬂy-l

224

X B —

Latus rectum =

=16y
£ =day
4a=16
a=4
s F,a)=(0,4)

] 1
xX*=8ly—-—
b-4)
X' =day
X=x
Here Yau-L
¢ J 5
4a=3§
Vertex v (0, 0)
x=0; -.‘_;_-0
N 4 2

.X=0; ys%
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10. 2¢+3y+0=g

f'&t P : :
3y=_p;_9 Pdar < Touching point | -
"’[T}"* 4a=3 P, )= [-"-.11]

y=mx+e¢ a=2 5 b

Where m= —'—'52— 2

c=-3

=_[__c_
: z m
e fse
i SRR
; (Y3 .
9

P(xl:yl) == "‘6]
2

)

o

@7
~L

71"_

1. = 11¥ R e [ ; .?
Va=3 [lmersect on the lirie be the directrix_ e e
x=—q = : )
i > : 0
ke ¥ y ¢ (E\N\
X, ¥ . :
. S -”\‘\ : v,
12. Note: x=-a
The locus of the point of intersection of 2!
perpendicular tangents to )* = 4ax is its directrix i i
P, 4 V' =dax-
(i) perpendicular = l:,
(ii) point of intersection [P(.\‘l. y) = lann, a(t + r,)L‘ ‘:v [
x=-a
(iif) directrix x
13. 9t — 54x + 557 —40p + 116 =0
ot — 6x) + SO - 8y) + 116=0
[ =G+ 3 -3 + 5P — By + 41— 4] +116=0
\'i-_—/ = _i e e
9(x - 3) — 81 + 5(y—4)' — 80+ 116=0 e = <
9(x —3)* + 5(r—4)’ =45

=3, -4 _ e e=% \ '
-)5{’ y' 9 - a1=9 5
M
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; b’-l“ : : R . z o
i bep2 Length of semi-major axis = o
% Length of semi-miior axis= 8-
~ b ;
15, Divided by 180 = £ 4 7. _ ;
: W 2G b’ +'—' ,._.i e
: =20 ; =3¢ 2a¢=7.:6x— : :
cler . =2l S elg '
16.2a=8 ; p=s 'z, 3 .
|- a=4 B=4 (@>p) :
: a=16 .
|- _ Theequationis ~——2, (x+4)1 (y 6)1 =1 e
A Ty=24e 4?}8}/’ k75 =dnt+ 5 5
4 _y=m.$+c T+T =1. c=:xB2+4
Where [m =2 [@=8;b=4 =%6
|L18. FP+FP=2g 4% + 9y =36
‘ =2x3 i

b4

£l

[FP+FP=2;
[0'=9 ; B*=4 5.0
o . 2
19. Divided by 144 = <=4+ 2= -
tvided by 144 6 9 1.. tl'he director circle isx® + 3 = Ex.f,_Jb!
a'=16; b'=9 = L

Radius of the director circle r = g2 + b = 16 +9 =25

20.724y=a"  Dividedby400=> : [ Thelocusis #+yt =g’
' 2+y=2s ¥ .7 2
L % T Toh

W 4 AR G -127=0
R4y - F)-d [+ e s -3~ Wb
12(y +2)' - 48 - 4(x +3)* +36 - 127 =0
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3 k=0 2 Z-Loi
; o 28 sx-2y+44k 4=y =3 1% 8 =
12()"*2)’—4(.\-4-3)":139 Y il 2y'-'55"" 26) 11—-";2"“ %-',%"
2 /i B, ’
gy 62 . - e : zZ_.Luiols
139 139 |, e o x—
o+ B [_‘L_l‘.,.q : g e, . 5
A 139 i A0 Wheem= 53 e=-2 27.0=210" [7] 2 [d=16381=9
(BT i : ! S0 a6
e . el e,m.,[_s_] |
1205 4 4 Condition for the tangency o)
S 5 . : y i d=dtni-8 . Note: The equation of Hyperbola
.oe= 1"";? : ; : 'cgim ; (i) Not in the standard form
. : i : ie., ad+2ny+ by +2gx + Up+c=g
- ,\HM h: -2k= % l9x3;-36 o' tan-t| 2YH = b
139/12 - T
! =iy : ~2%k=x (i) In the standard form
(=2 ] : D Rl e,zm-|[z]
: - k= P (0")- 4 a; bz a
2
Z;Zb_=(2";) il ;
a2 : 28, 367 =25 +900=0
i ; 2522 - 36y =900 :
2
0 Divided by 900 = <—— Sa
23.FP~FP=2a | . . e
24=2a el ge e d B :
*Le) " s 2R
_a=12 The asymptotes are The asymptotes of P -;; =] are
X Y :
=i -=—=0
Mty Lo
B i ST 4 =
. [FP : i TRl
.. equation %--—-= y=% _S_.X 2
24. X —4(y-3i=16" | 2p
< b 101 Y, M 8
| 2 co [yt ] Uy o oo ’ , 0)
i iy '[—x—,-!—=1 v \ / | o= 5 : [pmpm = £ g
' 6 4 o 4 S = 6436 BRL L X
=4 ) = < Pa S
) Where /=16 X=x FoF / \ 00 Whered’=64 ; bl=36 &
| ool gl T J | . 516
: : B LS dlh 2 o 2
e= ]+£— = [+i.3’_5_. V5 s fe 9
7 J, 1652 :
— T One Mark Questions for 2 Mathemanis 69 | Lomt (045 .
Lini (04366) 221778 3 7 7 i (04566) 221778 One Mark Questions for +2 Matheratics ¢


https://www.padasalai.net/

+ www.Padasalai.Net

30. xl+}} @&~ B
Yyl [wh,maz,w
V=9

®""@y 5=Q

@r e ®y 58 0} These are perpendiculars

Dﬂ & R..H X perpendiculars then its hyperbola .
is called a R, H.
32 xy=3 T ‘ .
y=c - .
i ot = [Cz =<3~ @->semi-transverse axis

=16 = g=gq

33.x=0,y=0
y—axis x-axis
s
3d.y=16 - [=16 .
Vertices (c, ¢) (- ¢, —)

35t [c"=js
c=3V2 ¥
Foci (V2c, V2c) (— V2e, —V2c)

= (6, 6) (- 6. -6)

c’=izz-n18=»a=5

Foci (a. a), (~a, — a) i.6.(6, 6), (6, ~6)-

36. xy=32 .’ [c’ =32 latus rectum

c=4Y2

37. AreaA=2c%
=2x72

:

LU =22 x4 =16

S i

[The locus of the point of intersection is
N h-n’ b a circle

* | I the asymptotes are

Xy =0)

e

b(‘]i c5 -‘Ec)
/Q
¢ (N2,

(OR)

(e =2v2c

L1 (045661221778
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38. 1f the normal to the R.H at
’2"'"—— Where =9 25023

- (2) = b -63)

V=dx {

Y =dax

() Axis - x-axisy=0

(i) Vertex:- v (0, 0)

(iii) Focus:- F (a, 0) = (1,0)

(iv) Directrix:- x=~g
i

(v) Latus rectum:- x=4¢

=4

a=| je

Ny

Eonmencfaranan

! x=1
(Vi)LL'=4g=4
P=—4y

P=—dagy [4a =4

a=1

() Axis:-y-axisx=0 .
(i) Vertex:- v (0,0) Gy 3
(iii) Focus:- F (0, —a) = (0, —1)
(iv) Directrix:- y=gq

: red
(v) Latus rectum:- y = -4

45,
ta
50,

F= -l
(Vi)LL'=4a=4 '
VY =—gx
Y=—dax  [4a=38
a=2

() Axis:-x-axisy=0

T T -

Lini (03566) 21778

O
L

%ty nmﬁemomu.lz then 1> iy

v
o 2

y=-a

-
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Lengh of MOT5 D=4 [Ann 0.
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(ii) Vertex:- v (0, 0) g 7th of minor 8%
(i) Focus: F (=g, 0) i Length 0 ,}3‘ , : it
=(2,0 ¢ | Ty "f;aj“ axis = 20=4 :
0% ‘trix xx 2a f t Len?th of minor axis =2b 2‘5 meh
=2 ?\ X 5 .
= x=-2=0, ; : f~' '
(v) Laws rectumz- x=—q e (i 34 i i [
x=-2 i - FRE ;
e - il IR R
'= =, Y 4 4 - v
(Vi)LL'=4a=8 . =;t-1—6‘| : ‘f
57. xz=4ay. 4a=20 le— 4a—3| 2 \
o L F=200 | g=s &= 20y ¢ ' B
62, tf) Axis ;- y-axisx=0 Srey ----I':—(a-ﬂ. L-'.> 69, —x_+ L =1 =
2 Y- axisx : L)Ly =a ‘ g5 a=5;b=3
(i) Vertex:- v (0, 0) I 3 s
(iii) Fous:- F (0, @)= (0, 5) i <_____.__3 ...... T e e= | l-i
< (iv) Directrix:- y=-a : yy=-a =22 @
. +5,,0~ ‘ —4— .
: ¥ o3 5 et _i=i
(v) Latus fectum:: y=a Sy 25 5
y=~5=0 y=&-3 L :
i) LL'=4dg=
) zs20 - s 70. x=tae
- L AlE
63. F(1,3) . t4x
FC=FC=1 unit Sl
7t y=tae
2 y:::)‘?
o eiila
a 2
e e 72 Lengh=2L g, 9. 8.
Major axis: x - axis y = 0 q 4:: 9
Minor axis: y - axis x = 0 25
73, Ltmgth'—'-T ﬂZx-':—-:; L&
25 oo 3 ’ 2 :
65. J+ 4==l By e Ao i+-‘V-m1
: a>b L N D
Major axis: y - axis = x= 0 b T a=5;h=3
Minor axis: x - axis = y=0 ) :
- 7 . 2
- ‘ ""'l"f?' (2.0 &
Lini (04366) 21778 One Mark Questions (or 2 Mathematies 3 | s BT
B e e— 2
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(i) ¢ (0, 0)

(i) (+ae, 0) = (45 x 4 4 0
=(%4,0)

(|v) A(Ea,0)=Ct 5,0)

75. i
-78.

30. 0‘3 sh=2

i

a-l*f

83. ‘(I) eBJ—l-: =J:=-— ‘

(i) ¢ (0, 0)

(i) F (0, 2ae) =[0, 3 x ﬁ]
3

=(0,+\5)
(V) A0, 1a)=(0,£3)

76.) 16x*+25)% = 400
[a= S

s D

84,
(i) F (xae, 0)= (43, 0)
(iii) A (2a, 0) = (£5, 0)

-3¢—+—-=]

85.  F(4,6)
" FC=F'C =4 units -

w6 e L [“=

90.{ '
92, T AT
94.
(i) transverse axis:- y axis=>x=0
conjugalc axisi-x axis = y=0

(i) x= =+ e T

3

-la

A\
~2,0)

Ao, 0)

(~2,0)

F(4,-6)

o\

.~

/ F(ae, 0)
(~ae, 0) /
A &

M N
Y a a b
x

=Xt ne gmb—

Cmamnmmahancaned

e e

- 4ge
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(iij)x-mml:“fﬁ
. 2
(W)Ll{"m"’— = _8._

(i) transverse axis:- xaxis=y=0
conjugate axis:-y axis =>x=0

o Y T
@ y=siy mEes =T

(m)y =tae= :i:3x-;=:l:5

88. 144x1 - 25y = 3600

Divided by 3600 = ke 1
25 144
Transverse axis:- x axis = y=0

Conjugate axis:- y axis > x=0 ~

89. 8/ -2 =16
b
&l . T

Tmnsverse axis:- y-axis > x =0
Conjugate axis:- x-axis = y= 0

o6 Ee ey

centre (0, 0)

Lint (04566) izrm

A\ L |F0,a) > y=tae -
e :

I e
a
< b e~
vy M
l"') y=-ge
FY0,-a)

.97. F (0, zae)= G,t 3x i:;_i}

=(0, +\34)
98. A (2a,0)=(4,0)

99. y'=12x *
m=bctbn [ =0G,-6)
¢ ~6y=6[x+3)

:

One Mark Questions for 1 Mathemmtee

ls - Email |D: padasalai.net@gmail.com



https://www.padasalai.net/

O ey e S A LD S

P 4

TS e

104. 36x*-25=900 '
B fan g
2536
" The combined equation of the

asymptot&s%——"éao
2

255486
3682 -25/=0

105. 24x* -8y =27

9

u 8 ai=y
527 27 : b’-ﬂ'
=1 8

119. Equation of the normal at/; is

xti-y=cti- S

- 1

L‘lz_l:—' ";:— = C’|x- ':_ (X, y) = (Clz, C/lz)
2 { Eiiven

2
s '1_=‘l,"'lll
2

4

-1
hh

=1 (- h)

o www.Padasalai.Net M%?&EH&%JQH
] 131 = :
100. f-gy 1 : 10, =1 E _;,=h+';r,
= “9["y w—ﬂ 2 @)= (3 | gt
$20 A
S 1 : 2 La’ o 4 -y—z- =1
By, o0 B 111, Bquation of the normal at f # 12 oN.CT 5 63
xty+y=2ah +aly £ | % P26 b'=3
atdtgt 2aty = 2an +ar® [ 9)= (@ aa) i g
101, y=%r an(- )= 2a(h = t) ’

P a&tdn [my)=(3,1) any(ty= 1) (1) == 2002~ 1) b
s, y=4ix-3)] ¢ P 4. ce=ad a
4 + [Ax=p-12=0 - S [ﬂ] 2 =iz |
z: 102, 2X1+5);-20 ‘1+72_="r1 4 =412 JB- +_y_-=|

265+ S =20 [(x1, ) =2 4) T 22 7

4x+20y =120 .

- \ua, 2an)

i 103. 4x'-638 =24 . : : :
;' 4xx -6y =24 {(x), ) =(5,3) : T, 2aty)
& 20x-18y=24 .
<

134, Area of F,BF;B' = 2abe 1 driiFd
L =2x2V2x2x—=
: 2| e=|1- -
: g i
= =
2
¢l 135 QPQP=p ‘[erQ'P=p"

=4 Wherea*=136
B=4

e 343'/26] '
et (70 ) i
=% :
Lini (04566) 221778
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5. Diffe
. rential Calculus - A r [ ‘]
S b . to the curve 6= = at the -3, -
pplications I , 9, The equation of the normal point Sep 13 & Mar "14)
; i
:’-Mﬂml‘ Part- 1l ey 8)30 =27~ 80 b)se-m-so e)so-zm-w d)8=-
Blue R | 6Marks 10 Marks y’ y
Print - No.of [ o Marks No. of | No.of o 10, The angle between the curves -- +~<==]and -'--—-- 1is 3
o | Qus, | Marks]o | Marks| Marks . (Jum 07, Mw 09 & Sep '11)
% 4 4 ._ b)~ c)-- d)—
Choose the =12 112 |2 [ 2 & ! : Cal ™ fi ¥ '13 & March m .
= = > *
correct answer (Mulhple Choice Questions) h The o beret ‘he m? I e L g 2:::
s L Book Questions ; 8) tan”" .8 B) tan” |~ W cjuan” A d)tan"[ )
The gradi : i U-a? 1+ w4
gra '°“‘°m‘°°“""ey”—2x’+3x+smxuz ‘ 9 N . i
2)-20 by27 is 12, The parametric equations of the curve * # ° = are
o ©)-16 d)-21 : )x=asin ? 9, y=acos’d byx=acos’ B;y=asin’ 0
© rale of change of area A of a circle of radius r is (Sep'08) - . ox=d'sin@y=acosd d)x=d" cosb;y=d sin©
a) 2nr b) 2nr 4 A i_ 0 n dr i 13. If the normal to the curve *° + 72 = 2> makes an angle 8 with the x —axis then the slope
“The velocity v of g 2 ; of the normal is SR e (Mar*11 & Mar '13) _ £
of q pamcle movmg along a straight line when at a distance x from the - a)~cot 9 b)tan ® ¢)-1an d)cot 8
origin is givenby a + by = x‘ where a and b are constaan Then the acceleranon is o H i i
a) 2, Zoncia b) = 14. If the length of the diagonal of a square is increasing at the rate of 0.1 cm/sec. What is the
x S b d) v e rate of increase of its area when the side is -i_cm? (Sep '12)
- A spherical snowball is melting in such a way that its volume s decreasing at a sate of 8) 1.5 om'/sec b) 3 em/sec ¢ 32 emlsec d)0.15 em/sec
1 cmY/min. 'The rate at which the diameter is decreasing when the diameter is 10 cm is wf 15. What is the surface area of a sphere when the volume is increasing at the same rate as ifs
- . (Mar *10, Mar?11 & June '14) radius? (.nm '06 & Mar o)
~1 % ; = e ;: 3 1
ﬂ)‘Tcmlmm b) —l- cmlmin ) -icm/min d);—sg-cmlmin a)l . b= c)dn -3 =
14 A
! " ; : & o Bicbe :
. The slope of the tangent b5 il ooy y =8 & 3 sk 2 MO 16 Foxi what values of x is the rate of increase of;’ 2 + 3x + 8is twice the rats, of mcrcafe
ofx (June *08 & Jun *12)
(Mar 07, Jun '08, Jun *09, Mar *12 & June '14) i 1 i 1
2)3 b2 1 -1 s [‘ 3 '3) o [?' 3] o [‘ 3 3] ? ['3" ')
; The slope of the normal to the curve y = 3x* at the point whose x coordinale is 2 is 17. The radius of a cylinder is increasing at the rate of 2 cm/sec and its altitude is decreasing at
(Mar '06, Sep '06, Jun *07, Sep '09, .hm "3 & Mer '15) the rate of 3 em/sec. The rate of change of volume when the radius is 3 cmand the altitude
2 l_ b) _L c) =Lt d) sl isScmis : (June *07)
a)23n b)33n c)d43n d)S3x
5 The point on the curve y = Zv ~ 6x ~4 at which the I:mgent is parallel to the x-axis is
; ‘ (Sep '10 & June'IS)  + 8. If y=6x-x and x increases at the rate of 5 units per second, the rate of change of slope
: i o whenx=3 is . » arch '13]
ol id b):i:'l. o[22  o|23 . . e
7' ey 25785 48 Stk * a)-90 units/sec b) 90 units/sec c) 180 umtslsec d)-180 urits/sec
= =t o WL 19. If the volutae of an expanding cube is increasing at the rate of 4 cm’/sec then the rate of -
. The equation of the tangent to the curve - =5 atthe point [ 5 = _(Mard' L ghange of suiface area when the volume of the cube is 8 cubic cm is
iy by Sy~ 3x=2 ¢)3x—5y=2 d)3x+3y=2 a) 8 cm/sec b) 16 cm’/sec ¢) 2 cm¥sec d) 4 cm®/sec
Tini (04566) 221778 One Mask Questions for +2 Mathemalics 74 Linl (04566) 221778 | One Mark Questons for +2 Malhemalics 75 Vo
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el

} _24. The value of *

-

LA

20. The gradient of the tangent to the curve y=§ + 4x—2;’ o lhepomtwhm {he curve cuts
the y-axis is il
a8 b)4 c) 0 -4 4

21. The Angle between the parabolas )” = x and * = at the orizin is

o X ; (Jun *06, Jun '10, Mnr 14 & Sep '14)

b [:;'] ' : a7 X

22. For the curve x = ¢' cosf; y=e'sin ¢ the tangent une is parallel to the x-ms when tis equal

to L (an12)
8)~ e

413
l)z‘ln'[: c)...

A L]
by 90" 07
23. Ifa normal makes an angle 8 with positive x-axis then the slope of the curve at the point
where the normal is drawn is (September '07)’

g)—cotd - b)tan@ c)-tane d)cotd

a so that the curvcsy= 3¢ and y= ? ¢ intersect orthogonally is
. 4 (Sep 0 & Jun"11)”
- d)3

1

a) '-1 c) =

b)1

25 If S = =47 + 7, the velocity when the acccleratxon iszero is
- (Sep '06, Mar *07, S!p *09 & Jun '15)

)-—mlsec

26. If the velocnty ofa pamcle moving along a straight hne is directly pmpomonal to the
square of its distance from a fixed point on the line, Then its acceleration j s ptopomonal to

32 =
B) —— m/sec b) ﬁ m/sec

)-——mlsec

a)s b) s 05 d) 5“ (Sep '11) 5 B

27. The Rolle’s constant for the function y=2* on [-2,2)is : - ' :
2~I' ;
5Y s ¢)2 d)-2

www.CBSEtips.in

im =18
Sl’L)'; - £)0 g
)
d-t i
$42, i —=—g -
),: i b)0 <) log =
¥ n
; s 2
s lff(a)=2‘f(a)=| . glay=~1; 8(a) =2 v fac valno of Ty
a) 5 b)-5 03
| i34. Which of the following function is increasing in (0, )7
11) er = b)—; : | c)_x
35 The function f{x) = - 5x+4 is increasing in
$ a) (=o; 1) -0)(1,4) A ©) (4, =)
56. The function f{x) =1 is decreasing in '
) b)(2,0) 90, .

'47. The function y = tan x — X is
i 5
a) an increasing function in [0, 2} X

B2 T
p)adecrgnsing function in [0.‘2‘} i

i e
472)’ ";

S ¢)increasing in [0, %:‘] and decreasing in ["

d) decreasing in [0, L] and increasing in | % Lt

2 M e
38. In a given semi circle of diameter 4 cm a rectangle is to be inscribed. The
the rectangle is

maximum g g

Kindly Send"l\’/"lé"Q‘U’§Wm%%i.net@gmail.com

28. The ¢’ of Lagranges Mean Value Theorem for the function flx) =5+ 2¢~ 1 ;a=0,b= | e 2)2 by 4 ¥ (March 05 & S
L5 2 (March 09, Jun 13, Sep 13 & Sep 1) o : d16 =
8)~1 by1 90 . d)— : ?9. The least possible perimeter of a rectangle of area 100 m? is g
ib 1 s X i : g
29. The value of ¢ in Rolle’s Theorem for the funcuon j(v) =cos = on [m, 3x] is P a) 10 b) 2 fe s Sep 16,508 &Jun'_ !
: (Mar 06, Mar '08 & Mar '12) S c) 40 6o =4
g n 3 i .
a)0 b) 22 9 & d)_z_ 4 zl)fzfx) =X -dr+Son|o, 3] then the absolute maximum value is tieil
30. The value of ‘c’ of Lagranges Mean Value Theoremfor fx)=Vxwhena=1andb=4 s .f{, L b)3 c)4 d)s :
(Jun *10, Jun '11 & Sep’ls) - “ 1 he i ke 49 (Mar 10 &
a) = DES oL oL £1;  8) concave upward for x>
4 2 145 7 A7 o) everywh b) concave downward forx>0 ¢
Lin {04366) 21778 ; ; TyWhere concave upward - '
> One Mark Questions for +2 Mathematics 76 ” l”“«usss) ST ; d) everywhere concave downward
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42. Which of the following curves

i5 concave down 2 . A
)y=opd =2 st b * (Mar ‘08, Jun 09 & 59 13) B 52. Anobjmdmppedﬁom}mkyrothmhwormxn—g?(g=9smlsf;'nm
43. The point oflnﬂe.xmn of the ¢ i b y-x"+2: 195 SemammAciEY 2
f ax=0 b)xgs"“”’"‘ isat : a,,,,, n3aMarls) B 0)-98misec’ )9.8 mised” -¢) 19.6 misec’ d)- l96mlsec
% 44. The curve y = ay’ + py? 4 e L d) nowhere 53, Amissile fired fromyomdlevelmesxmctresv:ﬂnllyupmrds in “r" seconds and
i s ¢+ dhas a point of inflexion at =1 then : £=1(100~ 12.5 ). Then the maximum height reached by the missileis . (March '15)
!;{' atb=0 b)a+3p=0 < Wan 08, Jun 10, Jun 212 & bar '14) K. ®)100m b150m  * €)250 m = G
.'r ; . COME Book uestions °)13; : Z:’:on.; i ol \_ 54, A conlinuous graph y = f(x) is such that /* (x) ~ e as x> x;, at {x;, 34). Then p = f{x) has a
i 45. Let “4" be the height of the tark. Then ¢ 3 o0, @ vercalangenty =, ikt AT
; respect to height is : en the rate of change of pressure 'p” of the tank with {f ¢) vertical tangent x = x .+ d)horizontal tangetﬂr =
)Z—h' ‘b)-‘!ﬂ iy ) : dp. : 55. Thecurvey—f(x)mdy=g(x)cmorﬂwgonal|yxfmhepomofm
. : 9 dh a) slope of f{x) =slope of g(x} . b) slope of f{x) + slope of 2(x)=0
46, jf the temperature 8° C of the certain metal rod of "I" metres is given by c).slope of f{x)/ slope of g(x) =1 : d) [slope of f{z)] [slope of g{x)] =]
=140, : B 20 ’
: lemperam(ﬁoislﬁ (; (é: IigOOOM e’ then the eate of change of / in miC® when the - 56. The aw of the mean can also be put in the form b3 (Sep 11 & Mar '14)
e gt B T = S a)fla+ ky=f(a)- hf'(a+0h) 0<O<1 b)Ra+hy=fla)+ i (a+0k) 0<BE]
e ::‘ e ‘:0::13 wC*  b)0.00023 mIC° ) 000026 mC®  d)000033 mC o)f(a+h)=f(a) + hf'(a~Ok) 0< 9< 1 OfletBy=fla)-hf'(a-8H) 0<B<1
- The following graph gives the funcuorml : : » > =z
relntionship between distance and time of Z ;gépm VislsniestS gt m 3 Ty ST e (J:us'l 7
@ moving car in m/sec. The'speed of t i ; - :
i : g ,e et ) not continuous " "b) not differentiable :
5 a) — m/s " b)‘;-_ m/s ‘ c) nbt in the indeterminate fonn asx—0 d) in the indeterminate form asx — 0
; )j\' 7y d)im/s » o § 4 58 If hmag(x) b and f'is continuous at x = b then
| 48. The distance « time relauonshnp of a movmg hody isgiven by y = F(l) then the ncceleratlon ) iy e 8) ,]l‘:‘ 2 8 =f (x -d g(x)J b) xl'_")' S =f (x g g(x)]
| of the body is the
{ - : : . ; li
a) gradient of the velocity/time graph b)'gradfmt of the dlstun.ce/u'mr‘: graph © | ©) . l’:‘a j(g(x)) =g (xl!)na j(x)] d) x‘il:‘a feN#f [xll‘:‘a g(x)]
c) gradient ofthe acceleration/time graph *  d) gmdlcm of the vclccxty/dnslance graph ; s >
im
49. The distance tnwelled by a car in *1"seconds s given by x= 31’ 27 + 41~ 1. Then the 950 prepl (Jun *06, Mar 08 & Sep '08)
i initial velocnly and initial acceleration iespectively are a)l b)~l AT 9o - d)w
2 2 ’ &
! a) (4mfs, 4 m/s")  b) (4 mfs, 4 mis’) ©)(0,0) 8 (1825 ms, 23 WS)} 60, fisa real valued funotion del’mcd on an interval I R (R bemg the set of real numbers)
| 50. The angular displacement of a fly wheel i in radians is given by 8 = 9(2 2. The ume when increases.on I. Then LI
the angular acceleration zero is 8) ) < fx;) whenever x, <X xx el b)f(x1) 2 f{x2) whenever x; <x; xy, nel
3)2.5s . b)335s c)l.5s d)d.5s : ) f{x1) $Tx) whenever x,>x; x, % €1 &) fx) > f(xy) wheneverx; > % x,x; €1
51. Food pockets were d-mpped from an helicopter during the flood and distance fallen in “” 61. Ifa real valued dlfferenhable ﬁmchon ¥ =f(x) defined on an open interval | is mcreasmg
seconds is gwen byy= £ gr2 (g=9.8 ms). Then the speed of the food pocket afier it has “”;l :
fallen for “2" seconds i IS . 8) . b) & Y, i !L < 0 d) is 0
2) 19.6 /s ° b) 9.8 mls o)-196ms  * d)-98mis = :
L {04366) 221778 ¢ ; O Vi Questions b TV T | e o °“M""Q'NW°' +2 Mathemstics 78
SPaC; c : i

G . : * ] v. ‘
Kindly Send Me Questions & Answers to Us - Email ID: padasalai.net@gmail.com



https://www.padasalai.net/

www.Padasalai.Net

BRI L st W, H or .
SRR s ot GRS i m,:,x, p
i H C)"o" iﬁ mw“u o Om;
; L e derivative. Then/ 18 4 then { - 3 b) Fermaf’s theorem
62. fis & differentisble functioh defined 00 m.'“m.:'; % po:::: ¢ i Mt g) the extreme value theorem ) Rolle’s theorem
B decreas . | Mean ‘ ;
9 ‘““."‘”‘;’“ e l. i d) strictly decreasing 00 1 .r') Lawof. / ’ ;
¢) strietly increasing on ' 15, Wentify the false statement e numbers
63. The function f(x) = is : : S ationary fumbers 41¢ critical num
o} increasing b) decreasin ) sricly decreasing ) sirictly incr o ;)_ :lt! ;h:mﬁ +ry point the firs derivative iszer0 |
fer then °2 b | numbers the first derivative need not exist _

64. If the gradient of a purve changes from po';ili\"]"“t before P to negative just
lsa .

&) minimum point b} maximum point ¢} inflexion ;';minl d) discontinuous point ;
65. The function f(5) = has  * . g (March '16)

2) & maximum value a2 x =0
¢} finite number of meximum values

66, The function f(z) = has

t) minimum value al x ™= 0
4) infinite number of maximum valucs

" a) absolute maximum b) abiolute minimum c) local maximum d) 10 extrema 1
67. 1f fhas s Yocal extremum ef'a and if {'(a) exists then e (Mar '10). .
3)f(@)<0 B)/(a)>0 . 9f@=0 - 0)/"a)=P {
) B ;

¥y

62. In the follgwing figure, the corve y = f(x) is
a) concave upward
b) convex upward
. ¢) changes from concavity to convexily
-d) changes frofh convexity and concavity o' 5D ; g
69. The point that separates the convex part of a continuous curve from the concave part is
? © (Sep’l2)
#) the maximum point b) the minlmum point  c) the inflexion point d) criticdl point
70. fis arwic; differentiable function on an interval I and if /"(x) >0 for all x in the domain |
of fthen fis :
) concave upward  b) convex upward ¢) increasing d) decreasing -
71. 2= %, is & ro0t of even order for the equation £(x) = O'then x = s is &
(Jun *08, Mar *11 & June *14)
d) eritical point
72. 1F x4 is the z-coordinate of the point of inflection of & curve y = f(x) then (Second derivative
exisis) : :
8)fiz)y=0 b)) =0 )70 S () #0
71, The siztement “I / is continyous on 2 closed interval g, 5] then f attains an absolute
maximum velue /(c) and an absolute minimum value f(d) at some number ¢ and d in [a, 8"
is ' ' (Jun'12)

8) makimum point  b) minimum point c) inflection point

2} The exireme value ﬂaz(_xem“ b) Fermt‘s.theorcm ¢) Law of Mean d) Rolle's theorem i
Kindty Send Me Questionsi&Amav Bre s s

s a2k, 221770

L iee——EECT S

AR e D
=

¢) st critica

) all the eritical numbers aré stationary numbers

-

; of '
. Identify the correct stateme ; / '
76 ,-)': wf:ﬁmwus function has Jocal maximum then 1t has absolute maximum

ii) a continuous function has focal minimum then it has absolute minimum
{ii) a cortinuous function has absolute maximum tbm.u . ul_ maximum ,
iv)  continuous function Fgs absolute misimum then it has local minimum

#) Initial velocity means velocity at =0
b) Initial acceleration means acceleration at (=0
¢} If the motion is upward, at the maximum height, the velocity is not zero
d) If the motion is horizontal, v=0 when the particle comes to rest

i) If the two lines are perpendicular then mym; = -
ii) If mm; = ~1 then the two lines are perpendicular
iiii) If m; = m; then the two lines are parallel

, Pk b
) ifmy =~ -”'—1 lﬁcn the two lines are perpendicular

) (if), (iii) and (iv) ) (i), (ii) and (iv)

79. Which of the following statements are correct (m; and m; are slopes of two lines) (Sp

¢) (iii) and (i) d) (i) and (i)
80. One of the conditions of Rolle's theorem is i R (Jume}
8) fis d=fined and continuous on (a, b) b) fis differentiable on [a, b} |
) fla)= f(fr) d)fis differentiable on (a: by
L (04566) 221778 ‘

pOumdG) DO dGd QG d@) 0, Gy
2 7'/ Identify the correct stalements ' 3 (Sep '10, Mar 13 4 254
4% ) Every constant function is an increasing fum:tfon ; ;
ii) Every constant function is a decreasing function
iii) Every identity function is an increasing function 4
iv) Every identity fur\ction is a decreasing function | ; I
) (), (i) and (i) b) () and (i) c) (iii) and (iv) ) G ) o
" 28, Which of the following statement is incorrect? - Gllu'

.
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; ’91. lftheMnlamin’luﬂumbﬂﬁxlo[.(l+x)isx--§-+-—---i—*-....then

81 1If ; s
aand b are two ronts of polynomial f{x) = then Rolle"

atleast i s theorem says tha there exists o 3.
l)onemnlbelwunannd‘bfnrl'(x)-o b M) : o MIIEIET 1 S % PP e
©) one root between a and b for P =0, ) tWo roots between @ and forf(x)=0 ¥ 92. The expansion of tan™ x is
B2 Anavdin Naakd s ; i tf)two foots between a and b for /7(x) = 0 " HEY T byx+ .g.__i‘. Q5 =5 Bx+ i+i’.+ -
exists atleast one cjn - fonhn""_“? on [a, b} and differentiable on (a, b) then there * ;R anli ; ol ik e B S 2 -
. e, b] such that ) = g g 93 The fanction i) =sinx s
L ) (a, b) such that f(c) = 0 TR a) increasing on E 7 b increasing on |0, 2
¢) (a, ) such th [ ~f(a) : 3 Eon |3 h >3
3 & y Bt ——— = 0 dj b f(b) —f(ﬂ) 45 ( . Lo i o ¥
B b cb-a - 9 (@ b) such that e 1Y § o increasing on [0, ) y d) decreasing on [0, z]
- inthe law v : = o i
ol OF mean, th: ;n(;lue of ‘0" satisfies the condition 2 (March '15) 1 94. The inequality sin x.<x < 1an x is true for sll x in ;
o ; <0 )8<] . d)0<8<1 g e S x %
- P Mg - — 3
§ 84, Which of the following statements are correcty # [ 2 '(ﬂ e (0, 2] 7 El 2 2} e 3
l) F;:llc's theorem is & particular case of Lagranges law of mean v : 1 5. The region of validity of the inequality log (1 +x) <xis
f') Branges law of mean is a particular case of generalised law of mean (Cauchy) . § . @)(@®) . bB(m,0 . Qo) - - A1)y - :
}") Lagranges law of mean is a particular ¢ase of Rolle’s theorem * ' A : ? has s
iv} Generahsed_law of mean is 8 particular case of Lagranges law of mean (Cauchy) -3 e g A
a) (ii), (iit) b) (i), (iv) e a,a) &G G ) only finitely many maximum points 3 .
bl ‘ y 4 g ) @) (@) b) infinitely many maximum points and finitely many minimum points_
{ X : L. Additiorial Questions . | ©)only finitely many minimum points 7
i 85. The luminous intensity I candela of a lamp at varying voltage V is givenby /=4x10% V2. | d) infinitely many minimum and maximum poinis
Then the rate of ch fli i i : 2 :
s e 9‘ change o] ;nsg;n with respectdo.voltage is - | 97. The fanction fix) 4 +, 0<x <2 has neither maximum value nor minimum value because
e . b= : c)8x10" . d)8x10'V | 9)isnot continuous . b) range of {is open
86. The gradient of a curve at (1, 2) vanishes. Then a horizontal tangent at (1, 2) to the curve is : S m(‘ervn!‘\ﬂ, %) s nctclosed d)% continuous
ajx=1 by=2 - )x=2  dy=1 98. One of the critical numbers of ¥ (4 -x) is . Delesion (Sep '06)
87. Equation of the tangent to the curve y=x" at (1, 1) is (September '07) 8)0 b)4 )43 d)3/5
a)y=2x-3 b)y=2x+3 c)y=3x-2 d)y=3x+2 99. The stationary point of f{x) = x** (4 - x} occwrs at : Deletion (Mar '07)
! 88. Equation of tangent to the curve x =cos B, y = sin 6 at 0 = % is 2 § a) 372 23 T eyo dy4 -
a)x_y_\fz'c‘o. By x+y-V2=0 Q)x-y-\2=0 ° dx+y+2=0 '100.'Thedomainofconmvityofth:curveyﬁZ—x’is s :
' 89. y = f(x) and’y = g(x) are two curves with respective slopes fan ; and tan . Then the 1) (~, 0) b) (0, «0) : ¢)(0,) d) (~0, w)
angle between them is zero if : ! [ 10L The Taylor’s theorem is obtained by putting b=a=hin . - :
; a) tan Yy ~ tan y; = 0 : 3; :::" W :::" ‘Vi’l i it  8) Rolle's theorem b) Lagranges law of mean
‘ c) tan yy — tan yp =1 m;‘ y s d}}w" ¥y ©) Extended law of mean d) Generalised law of mean v
90. The condition for the curves ax’ + 5" = 1 and ex® + dy’ = 1 to cut orthogonally is that i : . : T T
i g g Deletion *  (March '06) 102. The Maclaurin’s lhe.o.rem is obtained from the extended law of mean by putting
it . ™ X
J 1Lt T e e Ll s B a)a=0,b=x b)a=0,b=h _Qa=x,b=0 da=hb=Q
| Nt St Y g eyt s : : S o =
! PTG T One Mk Questons for+2 Nhemates 82 Ll g . One Bixk Goesions fie 42 VAR S
d Kindly Send Me Questions & Answers to Us- Emait ID: padasalai,net@gmail.com #



https://www.padasalai.net/

[!,dpgugrg. .
s f——] Ans. 5
Ans. | @QNe- | 2
QNo.| Ans. | Q:No. | Ans. | @Ne.| Ans. | QNe.| Ans, | @.Ne. | Ans. j QN P,_J_—-—-f‘—' B
A R R
1 16 [ d 31| b ] a6| a|61]|b Jin .
» - a p
2 177 b |2l d | a2 a]|&2]| e |70) 2 _._9.2.-——;- ;
.3 ¢ 18| a [ 33| a 48| a | 63| d _78- ¢ __’—93 ——
: b
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>3 a
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£L=4ﬂ+3

dr - )
; !L - 21)"'3,@
[dx]x’z

Differentialing

ArenA=’1"J

..‘_i-A-a S o

dt

dr

a* by’ = S
Differentiating,

L

®

)

N o
|
-

2

\u]b wlh W
M F
::*\vfl

<

P AL
a 7

[

e

-|=—x10x10x£

|

dD -1 s
= |—— = —— cm/min
dt 50n

y=3x‘+3smx

ook fx+3
75 3cosx

["Y] 0+3cos 0= -
dr

x=0

: dr
. The diameter is decreasing
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: 10,{5—4»%-1 “ {--4-1 | the curves o’ + b = | and g + by =1 : ;

Slope of the nnﬁnli - -i_

dy,
iy snlipel | gl gzl - [otorhoaoaty tea [5=%)
Slope of the norma = =L LA ) Rl LTy i 2
3 12 S T 5
| Jipddaabah e H A
Note: a b a-p
e : , 25-9=3+3 0=2
1) Wthe tangent is parae o the x axis : 16=16 ' :
2 ) - 4 (0R)
dx , ‘ e o K et 38
. ¢y S ¥ If the curves 5+ = | and <=~ <= | cut , then 5 E
u). Ifthe tangent is perpendicular to the x axis . 4 B iz P arthogonaly,
o dr @y Here 25=9+8 +Bistrue. , '
] oy =0 (or)zr-m - » . They are perpendiculars .
-4 z ] X 3
"":" i —— e e ——ie — li' ‘.y_.;ei{ :-— (l) s _— - it ;- -
- Touching point (x, y):[i’-_”] y=e"™ — () a;:=e" - y=e= k
202 Solve (1) and (2), T ; b - g
3 =™ wlide e % e
: . J o = - L] g L. o
Equation of the tangent y-j, =mx—x) P 8 [ d!]x" 0 {il [ dr]x-o ~m
- ERETI , , ] .
0=tag™ n+m BALY | Lot hrlen
Syt1=3x+3 3 @ tan — ; [between the angle 8 = tan S taia
. ; “: J 9=}8n",——li":", = Bﬂhn"[m,-—-z'_'_'l] since m> | : :
: : I 12 Note: : "
7 i No. |- Curve . Parametric equations
-1 N 1. =4 . = s Tym ;
Equation of the normal y -y = *--(x~x) A 7 aJ.i(Pamboh) F x=af  ;y=dat
A 1 L ; -
+—=9(t+3 a -
S ) i 2 jﬁ"“%’,‘(ﬁ"wﬁ)_ '$' x=acosd ; y=bsin@
i e
i [ | e . %L(' xmaned { IR |
-l S 4 : ;
== Gay) Amz ; 4. | xp=c* (Rectangulsr Hyperbols) BV R Al
; 0 & ; : ol o - " : :
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5. X4yt edl (Circle)

,..,,mo.; y-ulla

6. xm +y’n - am . ¥
. ' Ip ¢ pm=qgsin
(Astroid (or) Acusked Hypocycloid) $ ReR o0y y=8
3 iy xmacos' ; y=asin'0

13 A any line {whether it is tangent'or normal) makes an lngle A with x axis then'its slope is
always'tan 6, _ R ;

d . 15 4
14.—=(AC)=0.1 - ; =
—:T(wli'x)fo.l Area A= AC? = AB*+BC*
dx 5 & |AC*=2¢ D x Ce ol
s AT T e AC=2x 4
dr _ 0.1 IS0l i 5| 22 LR
e =2 X ==X — it |
@ B 2N i
A X L %(
——=15cm’s L
d - _;,'i
) ‘ :rvv'Jl
. {
4 4
15. %!__%:_ g
4 Surface area = 4nr*

d (4 ;) dr
d [3“2]— dt

4
Volume V = -3—1:?
42352 dr _ dr.
3 dt

dt
4n? =1
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_ . dx-
) & __,. dx 5
2 %-(3}_4x+3)-z- (34~ 4x+3) 2dt .
'41'2[‘4-"' 3.?-4!4‘1"0‘ xal'_]:
LA : (x-1)0x-1)=0 3
v=w’h i
— = *.* [, h~> variables)
17 dl.+2 2 pm3 ___-n[p’-—--!-lerdr]
d 3 - h=5 . di dt &
AR =n[9(—3)+2x5x3x2]-33xcms
A _:_V_ 33ﬂcﬂ" i 5
18, y=6x—2 ;m 0' G’Td;- e
!z'a = '- it B g_"
& o) =—6x3x5=-90 = o
m=6-35 7 R 5
d dt i ;
v
et =8 T ;
- dt ‘+ a‘;‘+8 i‘l’-.gazi“_ 5 !
a=2 3 de
da
(S) Surface Area = 6a 433{(4,?
B o sxdadl g et
d! dt ¥ dt 3
F 1
- =12x2x3
= %:-=8cm’s" " .
20, Ifthe curve cuts the y-axis x=0 = y=8+dxr-2¢
y=8+dx-27 y=8+0-0=8 .. Point (xi,y)=(0,8)
L ohe ~ P
[ ]~4(1 —x)=4(1- 0)
v }al > e i ‘-\l
2y.gL=1 ’dL=2! A 15 Wiz I} +
dx dx 8 = tan™' () !
b v
i :
Lani (04566) 221778 T =3
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[ﬂ] pers s
dx )(0, 0) .2y.

22. x=e'cost

= ’ y=e' sing
LA o ‘ dy
- (=sin ) +cos r ¢ T-e’ eosi+smle

d‘ 0 .
i ~elcost—sing)

Ifthe tangent parallel to the x axis n):

== 5
€S ¢4 sin ¢
=0
€OS £ ~sin ¢
€os I+ sins=(
eosr-—smt =

kS

i ~1
23. Slope of the tangent — 1. = —=1_
. " m tan@

,}.JSIﬂe of the curve n—com ;

20, ymie ;ﬂ-g-e"
25. s=r-42+7 a=0=>6-§=0
v-%‘:—;y’—gt : 1--34-

. 'am%aéh-s

=16

=1
VS e .8
3

26 vaes = pekd (% - constant)
d: .3
L i SRS
dt k?.s v
Lo (G4566) 221778

LR R R
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Q dyldt
“adldr
= Cosf+siny
€os [—siny

If the curves cut orthogonally m X rsy = ~1

3¢x [?] =n)

a=}

a-0=v=3!’—81=3x-14‘-—8x
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" v

P f »
Llsk.2sy S

2 faet [‘" o

PRPRET Y g [!L-a =:‘ f p

27, ’f the Wﬂ function isa qllﬂd'“k ﬂ.‘lcﬂﬁll then the value of ¢ must bG e

-

4

1
Hoomimge _ i
oy -o:»--’-;in['g']”o.
29. fz)=cos - Sf(e)=0= r oo o e ;
: ___l_si,,[_x_] : sin-%--'o .
J'® St ]
; i3 i
‘ 12 Fo) PSR i —=apx . [fEn0=0=0=nx
f(c)ﬂ—i— sm[?] ‘ - §=2!m x neZ
: n=0,1,2,3,...= ¢=0,2x,4n, 6w, ....
=olesm | ‘
)= : ®-f@ .
g J@==1 @)= L—,T ;
SRR L
' o 2% 3 3
f§c~)=‘2—4; 4;=’-g-= .cs—z- e(l,4)
L 2 L ge T aEa
X0 g x> & i Neomy
- Lo AlnRid oy -
X0 F. o o
Lt d-b "L -d.doga-¥.logh _loga-logh |log(a) | -
"x—>0 c' d x>0 &oge~ ~d.ogd logc-logd | log(cld)
33. fla)= 2 S@=1; gay=-1; g'@=2
Lt g(x)f(a)~ s(a)f(x) Lt fayge)- 8(a)f'(x)
X=ra X—-a x—ba e 2
=f(a).g (a)—g(a) -f'a) "
-2:2 (-l)xl-E] : 3
i (04 77 Oulekaﬂiomei»ZM“
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34, % e (0, «w)

SR =e St Ty =5
e P e e 169 =2+
=+ve>0 f-(x)--;—:- = .pe <0 L ,,_j_j.
- For all values ? il ; '
of x i (0, w) - esd wiyg el

»  increasing function

decreasing function | decreasing function | decreasing fgmtion'
Another method: : 5 S 5

: y==".
From these diagrams increasing function at (0, =) is &* only.
35. f)=x'~5x+4 ! : ¥ E
S)=2x~5 4

Substitute the answer in FAEIN

i) In (~»,,1) x=0 = j'(x)=0~5 =—ye<0
i)In(l,d) x=2 = f(x)=4-5=-ve<0
iii) In (4, ©) x=5 = f(x)= 10-5=+ve>0

increasing in G = v 2
36. fy=2 . =it ; :
y=xt \ \ /y A decreasing in (-, 0)
: -5 ol = ° -+ increasingin (0, )
37. f(x)=tan x—x :
D= sec’x — 1 ¢
¢ =tan’x “2 {1 +tan’ 8 =sec’ © i
=+ve>0 5
In (0, ) increasing function.
2 0 :
38. r=2cm ) ° AreaA=r s
= =4
A r".—_> cm 3 ey

39. Note: All the rectangles with a given area the one Wwith smallest perimeter is a square,
, - ; . 3
A=100 .

a=100 = a=10 [4a=20m]

Lini (04566) 221778

40. /(%)
; ’l ) =0 =

=. -ye

. [e)<0
¥ 2 f0=~
] =2
; )= 2
43, fy=x2"
L) =47
o) =12x

f1@)=3as

dl

1 47. Velocity =

'(x)=0= _lzx’ =0

fo=2x-4

2r-4=0
x=2

<

_pe <

[

44. y;ar’+bx=+cx+d

+2bx+c -,

fU(x)="6ax+2b
If it has a point of inflexion j "'(x) = 0
. 46, 1=1+0.00005 6 + 0.0000004 67

G coif0)=0~=0+5=5

iﬁ)ﬁx=3:ﬂ3)=‘9—.12+5=2

" [Tie absolute maximum value=5 |

[for all values of x

Hence, f(x} is concave downward

% l'rf "(x) > 0 (concave upward)
1 £''(x) < O (concave downward)

»

i) at (o, 6) /") = +ve >0
ii) at (0, ) f"(x) = +ve > 0

>, The point of inflexion is no where.

6ax+£b=0
6a+2b=0

=~ =0,00005 + 0.
o 0.00005 -+ 0.0000008 @

dl
= = 0.00005 -+ 0.00!
[do]e =100° C.. i

=0.00013 m °C™

time:

X
+h V=Tms"

displacement
Sbd el e Sl

ofatx=1
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497 x=30-2P 4401
2 SVE0 g

2

d. ¢
at =a=18t-4

50. 897 ~2¢
)
s 18- 6

) 1

JdY
a S 18-12¢ .

=0 5 18~12=0

3
[= o=
3¢ 1.5s i ;
1 e 7 - - - d
5l y=—- . ; -
yn ' L ey
dy z
\Ir-:_
dt 2’(2’ e
=08¢ v[g=938

alorg
52.x 2gl
dx
CASE
a= —‘{%ﬂg (For any time) ' i

53. x=100¢-125¢

dx
V-"d—l'—l()l) ~25t

Al a maximum height V=0 =

100-25¢=0
1=4
o x=4(100 - 50)

x=200m I

e o T

www.Padasalai.Net
) 120 initial velo;iry ‘

-0, =0 initil accoleration

a=0=4 ; £

3
]

| @~ angular velocity
& ~> angularacceleration |

e
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.

=)
)=
m= dx-eo
tan.0 = . [m=tan®
6=90° ﬂ?ntaﬂgentmksanangleewuhx axis
»'« Vertical tangent at x = x;

Lt x+1 0+| o
'x-)0x+3 0+3 3

58.By ﬁing composite Function Theorem

. =]
(not in the indeterminate form as x — 0) Bt j(g(x)) =f [x-i ks g(x)_
) 0
x50 tanx - [o S
LT y : o :
x=0 sec’x 62. f'(x)> 0 (strictly increasing function)
pa :
T osec?0 : ‘ A e
63. fir)=»'
Example: :
xi <x; (5ay)
L t1<s Sx)=f~1y==1
: Six2) =f5) =125
IEx) <xy =" fixy) <flxy) .
-1<125
! Hence, flx) is smctly increasing in R.
%.' Note:
f) =5 ~." | R —real numbers . 4 L
L)=32 For all values of x (+ve, —ve, 0)
i) lfx=2(+ve).->f'(x)=lz>0' 1
ii) fx=-I(ve)= f(x)=3>0 e i

I D=0 )20

It shows to be a increasing function not stnctly increasing

is not true].
Result:- (concept)

[From this, If f{x) s strictly i mcreasmg, J'(x) is'not strictly positive (> 0) Ifand only |f '

ik >0 j(x) is a strictly increasing funeuon Iti is true

k Iff{x)isa stnctly ; T (x)>0 is not true. l
i increasing function S (x) 20 (may be)
3 ‘_W
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